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QUESTION 1

A customer has disabled LLDP on the management interface of the switch. What is the proper command to re-enable
it?

A. OS10(config)# lldp enable OS10(config)#lldp transmit OS10(config)#lldp receive

B. OS10(config)# interface mgmt 1/1/1 OS10(conf-if-ma-1/1/1)#lldp med enable OS10(conf-if-ma-1/1/1)#lldp timer 10
C. 0S10(config)# interface mgmt 1/1/1 OS10(conf-if-ma-1/1/1)#lldp transmit OS10(conf-if-ma-1/1/1)#lldp receive

D. OS10(config)# interface mgmt 1/1/1 OS10(conf-if-ma-1/1/1)#lldp tly-select OS10(conf-if-ma-1/1/1)#lldp dotltlv
Correct Answer: C

Reference: https://topics-cdn.dell.com/pdf/networking-s5148f-on_connectivity-guide4_en-us.pdf page 197

QUESTION 2
Router (Area 0.0.0.0)
Link ID ADV Router Age Seq#
10.0.1.1 10.0.1.1 1411 0x800000D5
16,051 2 10.0.1.2 320 0x800000D2
10.D.2.2 10.0.2.2 1130 0=xB800000CF
Network (Area 0,0.0.0)
Link ID RDV Router Age seqg#
192.168.100.3 10.0.2.2 1268 0=800000CD
192.168.200.3 10.0.2.2 1130 0=800000CD
Type-5 AS External
Link ID ADV Router Age Seqg#
10.0.1.1 10.0.1.1 1175 0x80000001
144.254.32.0 10.0.1.1 1175 0x80000001
144.254.33.0 10.0.1.1 1175 0x80000001
152.168.37.0 10.0.1.1 1050 0=80000001
192.168.100.2 10.0.1.1 1175 0x80000001

S3 (config-routs r*ospf—i} i l
Refer to the exhibit.
The output shown is from which command?
A. S3(config-router-ospf-1)# show ip ospf database

B. S3(config-router-ospf-1)# show ip ospf topology
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C. S3(config-router-ospf-1)# show ip ospf Isa
D. S3(config-router-ospf-1)# show ip ospf statistics

Correct Answer: A

QUESTION 3

Which command is used to create a non-default VRF instance?
A.ip vrf

B. ip vrf forwarding new-vrf

C. ip vrf forwarding vrf-test

D. interface ethernet 1/1/1

Correct Answer: A

QUESTION 4

What is a feature of virtual routing and forwarding (VRF)?

A. Provides trunks that can be grouped to provide optimum speed.

B. Allows multiple user groups to co-exist within the same router at the same time.

C. Allows different physical switches to operate as one.

D. Allows multiple instances of routing tables to co-exist within the same router at the same time.

Correct Answer: D

QUESTION 5
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0510%# show ip pim tib

PIM Multicast Routing Table

Flags: S - Sparse, C - Connected, L - Local, P - Pruned,
R —= RP-bkit set, F - Register Flag, T - SPT-bit =et, J - Join SET,
K - Ack-Pending state

Timers: Uptime/Expires

Interface state: Interface, next-Hop, State/Mode

(*, 239.255.255.250), uptime 21:30:30, expires 00:00:00, RP 10.0.14.1 , flags: SC
Incoming interface: Null, RPF neighbor 0.0.0.0
Outgoing interface list:
v1lan300 Forward/Sparse 21:30:30/Never
ethernetl/1/54 Forward/Sparse 21:30:30/00:03:07

( 10.0.13.1 , 239.255.255.250), uptime 02:36:13, expires 00:00:00, flags: CJ
Incoming interface: Null, RPF neighbor 0.0.0.0
Qutgoing interface list:

vlanl00 Forward/Sparse 02:36:13/00:03:12
ethernetl/1/54 Forward/Sparse 02:36:13/Never

Refer to the exhibit.

Where is the rendezvous point for the group 239.255.255.250?
A.10.0.13.1

B.10.0.14.1

C. eth1/1/54

D. vlan300

Correct Answer: B
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